© a*-b*= (a+b)(-a+b)
© (a+b)?—4ab = (a-b)?

® 4ab-1= (2a+1)(2b-1)

® Q0 ORONE)
ONGRGENC) ® 0,6,

® 6,6




2-6x-2=0 9 ¢ T N=W?

>~

2

3+ V15
3
V3




3. OIAPFAA 22 +5x+2-k =02 37t Q=T SH= k 7ho] WY

17 17 17
> =t —_
@ k> 147 @ k> 147 A k ;
@ k<-— ® k<-—

4 4



D y=-x>+4x+1 @ y=x>-4x+1

® y=-x+4x-T7 @ y=x>+4x-3






6.

oh& % ol 7k 8§74 g e

1o

O x(x+3)=bx-1—x=1(FD)

@ 0.1(x+2)(x—5):0.2x—§—>x:13€%x:6
® (x-22=2x-x+6—x=-1F=x=-2
@ x-2)(x-3)=2x2—>x=1FE=x=-6

® (2x+3)?=3x>+4x-6>x=-5EE=x=-3



1APE 4 ax? ~ px—ap —3¢ = 0 ©] a £ goll BALe]

oo

x of

7.

o7

:[L

O
=

= 7H W, p+q ol 3k

i

® 2

1



ol
N
ol

1-a?

1+«

@ 4 @ 2 @0

ON]



A7t x=a¥

0, x*-4x-5=09 &%

®1 @ 4 ® 5

@ 0






11.

T oAt y = 227 o o] Hit Aoz &4 ¢
?

)

flo do

@ yZol thate] o]t

@ otz EE5)t,

® ZAH| FEE (0, 0) I,

@ y = 222 0] Tz} xFo] Tste] o]t
® y=—x2 9] TR} Fo] F.



12.

202 4 dx—k O DT} x ZT} A2 ohE T HoA

7] §1at A4 k o ghe] Wel?

@ k>-1 ® k<=2
® k>0



OojZFty y = x* + 8x +n O 1 ZI}F A4 ARZHS A7t B=
ARERS AUES Sh=n O] S F5HH?

O m>-16 @ -16<n<0 ®n=0

@ 0<n<16 ® n<16






o8

ojn

7

1t ol4be] A

ol 3

£ 5 54 Aololi

=

@ Az o

o,

5

A

ES
@ w"HA|

o

o ol

ol

v

o Zol7} o o] o}

=
=

5 olct,



A
=7

rr

16. o= F 24 yehd o, 7P 285 9L

34+ V3, 2v3-1, 1+ V2, V3-2, 6- V3

@D 3+ V3 @ 2vV3-1 @ 1+ V2
@ V3-2 ® 6- 3



57 +x =45 & o,

17.

@ 23 ® 1 @9 ® 3

O 32



18. x, y7F a4 o, x(2-2V2) +y(3+2V2) 9] Ftel |57t "ok
gt 2 o ge b
X

D1 @ 2 ® 3 @ 4 ® 5



19. oh ABTLES ol gte] VI001 O @S Fohw?

0 1 2 3 4

3.0 [ 1,732 1,735 | 1,738 | 1,741 | 1,744
4.0 12.000]2.002|2.005|2.007| 2.010
5.0 12,230|2,238 | 2,241 | 2,243 | 2,245

@© 44.72 @ 34.64 ® 34.70 @ 34.76 ® 44.76



20.

Vi=a-1°]1 -1<a<349 W, Vx+4a+ Vx-4a+8= 7t

s

D1

@ 2

® 3

@ 4

o

4



y=3x* 9 JHZE A (a, 12) € AL, 012
Zof diste] tiAelet. of wl, ab o] Fh2?



22.

“l<x<y< 0¥, & F1HHG & 55 1=2H?

O Vo @ /- @ /->

@ /—x2y ® /—x?



23. THHA - dxy + 3% - 6x + 2 - 16 & A5e) A
(x+ay+0b)(x+cy+d) 7t HAT o]t a - b+ c—d o 727

Do @1 ® 2 @ 3 ® 4



24. T AF a, b7} (a-1)° -4p> =33 S WZT W), 2% (a, b) £
%= 97 2= (T, a > 26 > 0)

@ 174 @ 271 @ 371 @ 47Y ® 570



a?-2ab+b2=9, 6ab+2=-4, a>b

@ 4 ® 9 @ 16 ® 25

1



